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Note : This paper is of sixty (60) marks containing three 

(3) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is the scope of total income of the following 

persons ? 

(a) Resident person  

(b) Resident but not ordinarily resident person.   

fuEufyf[kr O;fDr;ksa ds lEcU/k esa dqy vk; dk {ks= D;k  

gS \ 

¼v½ fuoklh O;fDr  

¼c½ vlk/kkj.k fuoklh O;fDr 

2. Explain any ten items of income exempted from 

income tax.  

vk; dh nl enksa dks le>kb;s tks vk;dj ls eqDr gSaA  

3. What are Perquisites ? Explain with examples taxable 

and tax free perquisite.  

vuqykHk D;k gSa \ dj;qDr RkFkk djeqDr vuqykHkksa dks 

mnkgj.k ds lkFk le>kb;sA  

4. Mr. Bansal owns a house property in Pune which is let 

out for ` 8,000 p. m. Its municipal valuation and 

municipal taxes are respectively ` 80,000 and 30%. 
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Mr. Bansal paid municipal taxes of past 4 years along 

with of the current previous year. Other expenses 

relating to property are following :  

` 

(i) Repair and insurance premium   7,000 

(ii) Interest for purchase of house 42,000 

The house remained vacant for three months during the 

year.  

Compute income from house property for the 

assessment year 2016-17.  

fe- caly dh iwuk eas ,d edku&lEifŸk gS] tks ` 8]000 

izfrekg fdjk, ij mBh gqbZ gSA bldk uxjikfydk ewY;kadu 

rFkk uxjikfydk dj Øe’k% ` 80]000 o 30% gSA fe- caly 

us foxr 4 o”kksZa ds uxjikfydk djksa dk xro”kZ ds djksa ds 

lkFk Hkqxrku fd;k gSA lEifŸk ls lEcfU/kr vU; [kpsZ 

fuEufyf[kr gSa % 

` 

(i) ejEer ,oa chek izhfe;e   7]000 

(ii) edku Ø; djus gsrq C;kt  42]000 

edku o”kZ esa rhu ekg [kkyh jgkA 

dj&fu/kkZj.k o”kZ 2016&17 ds fy;s edku&lEifŸk ‘kh”kZd ls 

vk; dh x.kuk dhft;sA  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss any four of the following :  

fuEufyf[kr esa ls fdUgha pkj ij la{ksi eas ppkZ dhft;s % 

1. Gross total income and total income.  

ldy dqy vk; rFkk dqy vk;A  

2. Casual Income.  

vkdfLed vk;A  

3. Exempted Incomes.  

djeqDr vk;A  

4. Valuation of rent free house.  

fdjk, ls eqDr edku dk ewY;kaduA  

5. Standard Rent.  

ekud fdjk;kA  
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6. Long-term and short term capital gain.  

nh?kZdkyhu ,oa vYidkyhu iw¡th ykHkA  

7. Bond washing transactions.  

fn[kkoVh ysu&nsuA  

8. Ramesh purchased some shares for ` 2,00,000 in 1985-

86. He gifted shares to Y in 1989-90. The Fair market 

value of the shares on the date to gift was ` 4,00,000. 

Y sold the shares on 10 December, 2015 for  

` 6,00,000. Determine the taxable capital gains in case 

of Y. The cost inflation index is 1985-86, 1989-90 and 

2015-16 were 133, 172 and 1081 respectively.  

jes’k us 1985&86 esa dqN va’k ` 2]00]000 esa [kjhnsA mlus 

;s va’k 1989&90 esa Y dks migkj esa ns fn;sA migkj ds fnu 

va’kksa dk mfpr cktkj ewY; ` 4]00]000 FkkA Y us bu va’kksa 

dks 10 fnlEcj] 2015 dks ` 6]00]000 esa csp fn;kA Y ds 

fy;s dj;ksX; iw¡th ykHk dh x.kuk dhft;sA 1985&86] 

1989&90 rFkk 2015&16 eas ykxr lwpdkad Øe’k% 133] 172 

rFkk 1081 FksA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k;s % 

1. Income tax is levied by central government.  

vk;dj dsUnzh; ljdkj }kjk yxk;k tkrk gSA  

2. The person, who is liable to pay tax shall be considered 

deemed assessee.  

tks O;fDr dj pqdkus ds fy;s mŸkjnk;h gS] mls ekuk gqvk 

djnkrk dgrs gSaA  

3. Capital gain arising on sale of agricultural land will be 

be treated as agriculture income.  

d`f”k Hkwfe dks cspus ij izkIr iw¡th dks d`f”k vk; ekuk 

tk,xkA  

4. A company may be non-ordinarily resident in a 

previous year.  

,d dEiuh ,d xr o”kZ eas vlk/kkj.k fuoklh gks ldrh gSA  

5. Conveyance allowance used to personal affairs is 

taxable.   

O;fDrxr dk;ksZa esa iz;qDr lokjh HkŸkk dj;ksX; gSA 

6. Pension received by a widow of an employee is taxable 

under the head salaries.   

,d deZpkjh dh fo/kok dks izkIr iasas’ku osru ‘kh”kZd eas 

dj;ksX; gksrh gSA  
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7. If a landlord has more than one self-occupied houses, 

all the houses except one shall be deemed to have been 

let-out.  

;fn fdlh edku ekfyd ds Lo;a jgus ds ,d ls vf/kd 

edku gSa rks ,d edku dks NksM+dj lHkh edku fdjk, ij 

mBs ekus tk;saxsA  

8. Profit from speculation are taxable under the head, 

‘Business or Profession’.  

lV~Vs ds ykHk ^O;kikj vFkok is’ks* ‘kh”kZ ds vUrxZr dj;ksX; 

gksrs gSaA  

9. Capital gain arises on transfer of capital assets.  

iw¡th ykHk] iw¡th lEifŸk ds gLrkUrj.k ls mRiUu gksrk gSA  

10. Total income under the head salaries is known as gross 

total income.  

osru ‘kh”kZd dh dqy vk; gh ldy dqy vk; ds uke ls 

tkuh tkrh gSA  
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